TFSHAITILRAE55F

T—F 9/14(H) 9/21(H)
JIB iz FEEFD 4=
1R 2R SF
1 1 INE E 2. (FA4 RT3 v )
I 13. (FDETC) }
2 bye
3 AN BEEF 08. (F¥ > RTC) 11:30
Bk E= 08. (F ¥~ RATC) 10.10|
4 R BEX 2. (Fr L) )
FiE MY 2. (Fr L) 9:15
3 5 #mAR BE 06. (R4—TC)
BO EEF 06. (R2—TC) |
6 bye
ﬁ 7 FK FI 2. (FrLod) 11:30
AE A% B(FrLoY) o 10:10|
% 8 "R ERF 2. (Fr L) .
£2MH £= 2. (FrL>oY)
*IJ 9 INE EE 22. (BRHKF)
#itt mE 22. (BRHKF) 10:10|
® 10 IO EE 23. (FrL D)
=R EE 08. (F ¥+~ RATC)
11 #}K B&F 2. (Fr L)
HE AHEY B (FriLod) 10:10|
4 12%#EE& 08. (F¥ > RTC)
i AT 12. (E0ETC) 9:15
13 A EF 13. FNETC)
Fh BE 19.(HLTC) 10.10|
14 Tl Hht 2. (Fr L) ) I
ER AT 2. (FriLo) 11:30
15 bye
2 16 BR Bea B (FrLid) }
FER BRE 23 (FrLrd)

X1 FO—fETR—EASEASR T O NS

2025408 H20H hix




